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1990-10

Passage 1

During the early years of this century, wheat was seen as the very lifeblood ef Western
Canada. When the crops were good, the economy was good; when the crops failed; there was
depression. People on city streets watched the yields and the price of wheat with almost as
much feeling as if they were growers. The marketing of wheat became.an increasingly favorite

topic of conversation.

War set the stage for the most dramatic events infmarketing the western crop. For years,
farmers mistrusted speculative grain selling as carried. on" through the Winnipeg Grain
Exchange. Wheat prices were generally low in the autumn, but farmers could not wait for
markets to improve. It had happened too often that they sold their wheat soon after harvest
when farm debts were coming due, only:to see prices rising and speculators getting rich. On
various occasions, producer groups asked for firmer controls, but governments had no wish to

become involved, at least notuntil'wartime wheat prices threatened to run wild.

Anxious to check inflation and rising living costs, the federal government appointed a
board of grain supervisors to handle deliveries from the crops of 1917 and 1918. Grain
Exchange trading was suspended, and farmers sold at prices fixed by the board. To handle the
crop of 1919, the government appointed the first Canadian Wheat Board, with full authority to

buy, sell, and set prices.

1. What is the main purpose of the passage?

(A) To explain how wheat is marketed today

(B) To justify suspension of trading on the Grain Exchange

(C) To describe the origins of the Canadian Wheat Board
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(D) To argue for further reforms on the Canadian Wheat Board

2. The author uses the term "lifeblood" (line 1) to indicate that wheat was .................
(A) difficult to produce in large quantities

(B) susceptible to many parasites

(C) essential to the health of the country

(D) expensive to gather and transport

3. According to the passage, most farmers’ debts had to be paid .......00..cocvhenennn.
(A) when the autumn harvest had just been competed

(A) because wheat prices were high

(C) as soon as the Winnipeg Grain Exchange demanded-payment

(D) when crop failure caused depression

4. According to the passage, wheat prices became unmanageable because of conditions
caused by ................

(A) farmers

(B) supervisors

(C) weather

(D) war

5. In line 13, the word *check’ could best be replaced by which of the following?
(A) control

(B) investigate

(C) finance

(D) reinforce

6. According to the passage, a preliminary step in the creation of the Canadian Wheat
Board was the appointment of ..................

(A) the Winnipeg Grain Exchange
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(B) a board of supervisors
(C) several producer groups

(D) a new government
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Passage 2

American Indians played a central role in the war known as the American Revolution.
To them, however, the dispute between the colonists and England was peripheral. For
American Indians, the conflict was a war for American Indian independence, and whichever
side they chose they lost it. Mary Brant was a powerful influence among the Irogueis. She was
a Mohawk, the leader of the society of all Iroquois matrons, and the widow.of Sir'William
Johnson, Superintendent of Indian Affairs. Her brother, Joseph Brant;.is the best-known
American Indian warrior of the Revolution, yet she may have exerted even more influence in
the Confederacy than he did. She used her influence to keep the western tribes of Iroquois loyal
to the English king, George I1l. When the colonists won the war,she and her tribe had to
abandon their lands and retreat to Canada. On the other side,"Nancy Ward held position of
authority in the Cherokee ration. She had fought as a warriorin the war against the Creeks, and
as a reward for her heroism was made “"Beloved Weman" of the tribe. This office made her
chief of the women's council and a member ofthe council of chiefs. She was friendly with the
White settlers and supported the,patriots during the Revolution. Yet the Cherokees too lost

their land.

1. What is the main.point.the author makes in the passage?
(A) Siding with the English in the Revolution helped American Indians regain their land.
(B) At the time of the Revolution, the Superintendent of Indian Affairs had little power.
(C) Regardless of whom they supported in the Revolution, American Indians lost their land.
(D) The outcome of the Revolution was largely determined by American Indian women.
2. The word "it" in line 4 refers to ..................
(A) side
(B) revolution
(C) dispute
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(D) independence

3. According to the passage, Mary Brant's husband had been a ........................
(A) government official

(B) Mohawk chief "Page |
(C) revolutionary hero

(D) Cherokee council member

4. The word "he" in line 8 could be replaced by ..............

(A) Sir William Johnson

(B) the Superintendent of Indian Affairs

(C) Joseph Brant

(D) George I

5. To which tribe did Nancy Ward belong?

(A) Mohawk

(B) Iroquois

(C) Cherokee

(D) Creek

6. How did Nancy Ward gain her position of authority?

(A) By bravery in battle

(B) By marriage to achief

(B).BY joeining the-Confederacy

(D) By'being:born into a powerful family

7. According to the passage, what did Mary Brant and Nancy Ward have in common?
(A) Each was called "Beloved Woman" by her tribe.

(B) Each influenced her tribe's role in the American Revolution

(C) Each lost a brother in the American Revolution.
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(D) Each went to England after the American Revolution.
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Passage 3

In the late 1960's, many people in North America turned their attention to
environmental problems and new steel-and-glass skyscrapers were widely criticized.
Ecologists pointed out that a cluster of tall buildings in a city often overburdens public

transportation and parking lot capacities.

Skyscrapers are also lavish consumers, and wasters, of electric power. Inone recent
year, the addition of 17 million square feet of skyscraper office space.in New York City raised
the peak daily demand for electricity by 120,000 kilowatts -- enoughto supply the entire city
of Albany, New York, for a day.

Glass-walled skyscrapers can be especially wasteful. The heat loss (or gain) through a
wall of half-inch plate glass is more than ten times(that through a typical masonry wall filled
with insulation board. To lessen the strain on heating and‘air-conditioning, equipment builders
of skyscrapers have begun to use double,glazed panels of glass, and reflective glasses coated
with silver or gold mirror films that reduce glare as well as heat gain. However, mirror-walled

skyscrapers raise the temperature.ofthe surrounding air and affect neighboring buildings.

Skyscrapers put a severe strain‘on a city's sanitation facilities too. If fully occupied, the
two World Trade Center towers'in New York City would alone generate 2.25 million gallons
of raw sewage each year=- as much as a city the size of Stamford, Connecticut, which has a
population of morethan 109,000.

Skyscrapers also interfere with television reception, block bird flyways, and obstruct
air traffic.. In\Boston in the late 1960's, some people even feared that shadows from skyscrapers

would Kill‘the grass on Boston Common.

Still, people continue to build skyscrapers for all the reasons that they have always built
them -- personal ambition, civic pride, and the desire of owners to have the largest possible

amount of rentable space.
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1. The main purpose of the passage is to ...........cccccueee.

(A) compare skyscrapers with other modern structures

(B) describe skyscrapers and their effect on the environment

(C) advocate the use of masonry in the construction of skyscrapers
(D) illustrate some architectural designs of skyscrapers

2. According to the passage, what is one disadvantage of skyscrapers that have mirrored
walls?

(A) The exterior surrounding air is heated.

(B) The windows must be cleaned daily.

(C) Construction time is increased.

(D) Extra air-conditioning equipment is needed.

3. According to the passage, in the late 1960's.some residents of Boston were concerned
with which aspect of skyscrapers?

(A) The noise from their construction

(B) The removal of trees from building sites

(C) The harmful effects on the city's grass

(D) The high cost of rentable office space

4. The author raisesissues that would most concern which of the following groups?
(A) Electricians

(B) Environmentalists

(C) Aviators

(D) Teachers

5. Where in the passage does the author compare the energy consumption of skyscrapers
with that of a city?

(A) Lines 5-8

(B) Lines 13-14
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(C) Lines 19-21

(D) Lines 22-24
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Passage 4

It was not “the comet of the century” that experts predicted it might be. Nevertheless,
Kohoutek had provided a bonanza of scientific information. It was first spotted 370 million
miles from the Earth, by an astronomer who was searching the sky for asteroids,-and after
whom the comet was named. Scientists who tracked Kohoutek ten months before'it passed the
Earth predicted that the comet would be a brilliant spectacle. But Kohoutek fell short'of these
predictions, disappointing millions of amateur sky watchers, when it proved too-pale to be seen
with the unaided eye. Researchers were delighted nonetheless with‘the new information they
were able to glean from their investigation of the comet. Perhaps the-mostssignificant discovery
was the identification of two important chemical compounds --‘methyl cyanide and hydrogen
cyanide -- never before seen in comets, but found in the far.reaehes of interstellar space. This
discovery revealed new clues about the origin.of comets. Most astronomers agree that comets
are primordial remnants from the formation of the selar system, but whether they were born
between Jupiter and Neptune or much farther out toward interstellar space has been the subject
of much debate. If compounds nesmore complex than ammonia and methane, key components
of Jupiter, were seen in comets, it would'suggest that comets form within the planetary orbits.
But more complex compounds,.such as the methyl cyanide found in Kohoutek, point to

formation far beyond.the planets;,.there the deep freeze of space has kept them unchanged.

1. What is the subject of the passage?

(A) What was learned. from Kohoutek

(B) What was,disappointing about Kohoutek

(C) Where Kohoutek was spotted

(D) How'Kohoutek was tracked

2. Why was Kohoutek referred to as ""'the comet of the century**?
(A) It was thought to be extremely old.

(B) It passes the Earth once a century.
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(C) Scientists predicted it would be very bright.

(D) Scientists have been tracking it for a century.

3. In what respect, was Kohoutek a disappointment?

(A) It could be seen only through special equipment.

(B) It did not approach the Earth.

(C) It did not provide valuable scientific information.

(D) 1t was moving too rapidly for scientists to photograph.

4. Before the investigation of Kohoutek, where had methyl cyanide been known to exist?
(A) In comets

(B) On asteroids

(C) Between Jupiter and Neptune

(D) Beyond the Earth's solar system

5. According to the passage, what is one major component of Jupiter?
(A) Hydrogen cyanide

(B) Methyl cyanide

(C) Hydrogen

(D) Ammonia

6. What aspect of Kohoutek did scientists find most interesting?
(A) Its shape

(B).Its composition

(C) lts'orhit

(D) Its size

7. Which of the following questions is best answered by information gained from
Kohoutek?

(A) Where were comets formed?
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(B) When were comets formed?
(C) When was the solar system formed?

(D) How was the solar system formed?

CAFYYACLYAY fal KI5l il
https://www.instagram.com/SharifzadehAcademy/
https://t.me/SharifzadehAcademyCom

Y +Page |



sl sl Aty
Linked-In osl-38ad IS] (sl g s S o 5 4llie (et 4 SOl ) () sie dan 5 (5 ) al) dan 53 08

GoR sla SIS s Do s el Ol ISI Ve 5 4als by« 59 & sim 50 AT
ole laallal 2 saiea (i) 8y ) i das ) 5 s 4es)) Ol a G sean )

J 5 ol Bme (el R ) 68 asee L) (iledin — el R (B20) 23 ) (asee (L)
TOLIMO sadl 53 (Siledia IELTS il Sedia  MSRT Sledia  MHLE Sleia EPT (sleaia
Gea ibes b alae el s a Ledibas 5 o 4y allie Jl ) o585 (latia) Gl Kadi ) < lea
(©Yae) Osie s (i s (Sl (5 S) (el ) 40 (285 EndNote <asiail ) 8l o jialliae s
Lo puay 5 Lo g gy 4a 2 0305 Ve v v (80 (ol

X1} c_ig J..CL UAJ\S‘ calads

GV ae i (il g
B 4y (s 8 daa
OVl gl
By ) maai Ly (il
B s+ 3501 s 5
SIS aaai by id 5

CAFYYACLYAY fal KI5l il
https://www.instagram.com/SharifzadehAcademy/
https://t.me/SharifzadehAcademyCom

YYPage |



sl sl Aty
Linked-In osl-38ad IS] (sl g s S o 5 4llie (et 4 SOl ) () sie dan 5 (5 ) al) dan 53 08

oSl sl S s s s 4l L ISI Ve 5 4als by« 59 & sim 50 AT
ole laallal 2 saiea (i) 5 ) i das ) 5 s e das ) Ol a G sean )
U 5 ol e (el R ) 68 asee L) (Setie — 3ol 8 (523) 25 ) e see (L)
TOLIMO el 53 (Sladia IELTS il Sedis  MSRT (Sledia  MHLE Sledia EPT sledia
Gea ibes b alae el s a Ledibas 5 o 4y allie Jl ) o585 (latia) Gl Kadi ) < lea
(©Yae) Osie s (i s (Sl (5 S) (el ) 40 (285 EndNote <asiail ) 8l o jialliae s
ot gun 5 Wi gl (B9 an s S o5l Ve e R0 )

OBl (g Al

éM&A&MJﬁJM@Jﬁ&\DJ}@A

CAFYYACLYAY fal KI5l il
https://www.instagram.com/SharifzadehAcademy/
https://t.me/SharifzadehAcademyCom

YYPage |



sl sl Aty
Linked-In osl-38ad IS] (sl g s S o 5 4llie (et 4 SOl ) () sie dan 5 (5 ) al) dan 53 08

GoR sla SIS s Do s el Ol ISI Ve 5 4als by« 59 & sim 50 AT
ole laallal 2 saiea (i) 8y ) i das ) 5 s 4es)) Ol a G sean )

U 5 ol e (el R ) 68 asee L) (Setie — 3ol 8 (523) 25 ) e see (L)
TOLIMO el 53 (Sladia IELTS il Sedis  MSRT (Sledia  MHLE Sledia EPT sledia
Gea ibes b alae el s a Ledibas 5 o 4y allie Jl ) o585 (latia) Gl Kadi ) < lea
(©Yae) Osie s (i s (Sl (5 S) (el ) 40 (285 EndNote <asiail ) 8l o jialliae s
ot gun 5 Wi gl (B9 an s S o5l Ve e R0 )

Passage 5

George Washington Carver showed that plant life was more than just food for animals
and humans. Carver's first step was to analyze plant parts to find out what they were made of.
He then combined these simpler isolated substances with other substances to create new

products.

The branch of chemistry that studies and finds ways to use raw materialsdrom farm
products to make industrial products is called chemurgy. Carver was one of the first and
greatest chemurgists of all time. Today the science of chemurgy is.better known as the science
of synthetics. Each day people depend on and use synthetic materials made from raw materials.
All his life, Carver battled against the disposal of waste.materialsiand warned of the growing

need to develop substitutes for the natural substances-being used up by humans.

Carver never cared about getting credit for'the new products he created. He never tried
to patent his discoveries or get wealthy. from them. He turned down many offers to leave
Tuskegee Institute to become a rich scientist.in private industry. Thomas Edison, inventor of
the electric light, offered him a daberatery in Detroit to carry out food research. When the
United States government made him a collaborator in the Mycology and Plant Disease Survey
of the Department of Agriculture, he accepted the position with the understanding that he
wouldn't have to leave Tuskegee. An authority on plant diseases -- especially of the fungus
variety -- sent hundreds,of specimens to the United States Department of Agriculture at the

peak of his career..Carver's fame and influence were known on every continent.

1. With what topic is the passage mainly concerned?
(A) The work and career of George Washington Carver
(B) The research conducted at Tuskegee Institute

(C) The progress of the science of synthetics

(D) The use of plants as a source of nutrition
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2. In line 2, the word "step' could best be replaced by ........ccccceevvenneene.
(A) footprint

(B) action

(C) scale

(D) stair

3. According to the passage, chemurgy can be defined as the ................
(A) combination of chemistry and metallurgy

(B) research on chemistry of the soil

(C) study of the relationship between sunlight and energy

(D) development of industrial products from farm products

4. Why does the author mention Thomas Edison’s offer to Carver?

(A) To illustrate one of Carver’s many opportunities

(B) To portray the wealth of one of Carver's competitors

(C) To contrast Edison’s contribution with that of Carver

(D) To describe Carver’s dependence en industrial support

5. Which of the following is NOT discussed in the passage as work done by Carver?
(A) Research on electricity

(B) Analysis of plant parts

(C) Invention‘of new:products

(D).Researchon plant diseases
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Passage 1

By the late nineteenth century, the focus for the engineers and builders of tunnels was
beginning to shift from Europe to the United States and especially New York;where the rivers
encircling Manhattan captured the imagination of tunnelers and challenged.their.ingenuity. The
first to accept the challenge was a somewhat mysterious Californian named:DeWitt Clinton
Haskin, who turned up in New York in the 1870's with a‘propaosal to tunnel through the silt
under the Hudson River between Manhattan and Jersey City.

Haskin eventually abandoned the risky project/But.a company organized by William
McAdoo resumed the attack in 1902, working from both.directions. McAdoo’s men were
forced to blast when they ran into an unexpected ledge of rock, but with this obstacle
surmounted. The two headings met in"1904;,.and McAdoo donned oilskins to become the
Hudson’s first underwater bank-to-bank pedestrian. Worid’s Work magazine proudly reported
in 1906 that New York could now be.described as a body of land surrounded by tunnels. Three
one-way shafts beneath the/Hudson and two under the Harlem River were already holed
through; three more Hudson ‘tubes were being built. Eight separate tunnels were under

construction beneath. the\East River.

1. According to‘the passage, DeWitt Clinton Haskin came from ..................

A) Jersey City

B) Europe

C) California

D) New York
2. 'What does the author imply about DeWitt Clinton Haskin’s background?

A) It did not'qualify him to handle explosives.

B) It wasnot something people knew much about.

C) It included diverse work experiences.

D) It included many inferior projects.

. According to the passage, when did William McAdoo begin to work on the Hudson
River tunnel?

A) 1870
B) 1902
C) 1904
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(D) 1906
4. According to the Passage, the workers tunnelingkfor William McAdoo were surprised
to ﬁ8d| which of the following where they were working?

A) Oi

B) Silt

C) Rock

D) Shafts
5. The quotation from World’s Work magazine in line 12 introduces facts about..............
(A) cities that were building new tunnels to Manhattan

B) people’s concern eve the weakening of the city's foundation
C) the role of New York City in promoting engineering

D) the number of tunnels being built at the time
6. Where in the passage does the author refer to the first person te walk beneath the
Hudson River?

A) Lines 1-3

B) Lines 4-6

C) Lines 8-11

D) Lines 14-15
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Passage 2

Icebergs are among nature’s most spectacular creations, and yet most people have never
seen one. A vague air of mystery envelops them. They come into being somewhere -- in
faraway, frigid waters, amid thunderous noise and splashing turbulence, which in most cases
no one hears or sees. They exist only a short time and then slowly waste away justias unnoticed
objects of sheerest beauty, they have been called. Appearing in an endless variety of shapes
they may be dazzlingly white, or they may be glassy blue, green, or purple, tinied faintly or in
darker hues. They are graceful, stately, inspiring in calm, sunlit seas.

But they are also called frightening and dangerous, and they.are in.the night, in the fog,
and in storms. Even in clear weather, one is wise to stay a safe distance away from them. Most
of their bulk is hidden below the water, so their underwater. parts may extend out far beyond
the visible top. Also, they may roll over unexpectedly, churning the waters around them.

Icebergs are parts of glaciers that break off, drift into the water, float about awhile, and
finally melt. Icebergs afloat today are made of snowflakes that have fallen over long ages of
time. They embody snows that drifted downhundreds, or many thousands, or in some cases
maybe a million years ago. The snows, fellin Polar Regions and on cold mountains, where they
melted only a little or not at all, and'so collected to great depths over the years and centuries.

As each year’s snow accumulation lay on the surface, evaporation and melting caused
the snowflakes slowly to.lose their feathery points and become tiny grains of ice. When new
snow fell on top of the'old, it too turned to icy grains. So blankets of snow and ice grains
mounted layer upon layer and were of such great thickness that the weight of the upper layers
compressed the lower ones. With time and pressure from above, the many small ice grains
joined and changed to larger crystals, and eventually the deeper crystals merged into a solid

mass of ice.

1. Which of the following is the best title for the passage?
A) The Melting of Icebergs

B) The Nature and Origin of Icebergs

C) The Size and Shape of Icebergs

D) The Dangers of Icebergs
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2. The author states that icebergs are rarely seen because they are ...............
A) surrounded by fog

B) hidden beneath the mountains

C) located in remote regions of the world

D) broken by waves soon after they are formed

. The passage mentions all of the following colors for icebergs EXCEPT .............
A) yellow

B) blue

C) green

D) purple
4. According to the passage, icebergs are dangerous because they ........%.....
A) usually melt quickly

B) can turn over very suddenly

C) may create immense snowdrifts

D) can cause unexpected avalanches
5. According to the passage, icebergs originate from a build-up.of................
A) turbulent water

B) feathers

C) underwater pressure

D) snowflakes

. The formation of an iceberg is most clearly analogous to which of the following
activities?

A) Walking on fluffy new snow, causing it to-become more compact and icy

B) Plowing large areas of earth, leaving the land flat and barren

C) Skating across a frozen lake and leaving a trail’‘behind

D) Blowing snow into one large pile to clearan area

7. In line 23, the expression "from above'' refers to ..........................

A) sunlit seas

B) polar regions

C) weight of mountains

D) layers of ice and snow
8. The attitude of the author toward icebergs is one of .............ccceeeeeeee

A) disappointment

B) humor

C) disinterest

D) wonder
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Passage 3

Born in 1830 in rural Amherst, Massachusetts, Emily Dickinson spent her entire life in
the household of her parents. Between 1858 and 1862, it was later discovered, she wrote like a
person possessed, often producing a poem a day. It was also during this period that her life was
transformed into the myth of Amherst. Withdrawing more and more, keeping to her room, and
sometimes even refusing to see visitors who called, she began to dress only in.white == a habit
that added to her reputation as an eccentric.

In their determination to read Dickinson's life in terms of astraditional romantic plot,
biographers have missed the unique pattern of her life -- herstruggle to create a female life not
yet imagined by the culture in which she lived. Dickinson was not the innocent, lovelorn and
emotionally fragile girl sentimentalized by the Dickinson myth‘and popularized by William
Luce’s 1976 play, The Belle of Amherst. Her.decision to shut the door on Amherst society in
the 1950's transformed her house into a kind of magieal realm in which she was free to engage
her poetic genius. Her seclusion was not the result.of a failed love affairs but rather a part of a
more general pattern of renunciation through which she, in her quest for self-sovereignty,
carried on an argument with the/Puritan-fathers attacking with wit and irony their cheerless

Calvinist doctrine, their stern patriarchal God, and their rigid notions of "true womanhood."

1. What is the author'samain purpose in the passage?

A) To interpret Emily Dickinson’s eccentric behavior

B) To promote the pogular myth of Emily Dickinson

C) To discuss Emily Dickinson's failed love affair

D) To describe the religious climate in Emily Dickinson's time

2. According to thepassage, the period from 1858 to 1862 was for Emily Dickinson a

period.ofgreat...................
A)tragedy

B) sociability

C) productivity

D) frivolity

. Which of the following is NOT mentioned as being one of Emily Dickinson's
eccentricities?

A) Refusing to eat

B) Wearing only white

C) Avoiding visitors

D) Staying In her room

CAFYYACLYAY fal KI5l il
https://www.instagram.com/SharifzadehAcademy/
https://t.me/SharifzadehAcademyCom

YoPage |



sl sl Aty
Linked-In osl-38ad IS] (sl g s S o 5 4llie (et 4 SOl ) () sie dan 5 (5 ) al) dan 53 08

GoR sla SIS s Do s el Ol ISI Ve 5 4als by« 59 & sim 50 AT
ole laallal 2 saiea (i) 8y ) i das ) 5 s 4es)) Ol a G sean )

U 5 ol e (el R ) 68 asee L) (Setie — 3ol 8 (523) 25 ) e see (L)
TOLIMO el 53 (Sladia IELTS il Sedis  MSRT (Sledia  MHLE Sledia EPT sledia
Gea ibes b alae el s a Ledibas 5 o 4y allie Jl ) o585 (latia) Gl Kadi ) < lea
(©Yae) Osie s (i s (Sl (5 S) (el ) 40 (285 EndNote <asiail ) 8l o jialliae s
ot gun 5 Wi gl (B9 an s S o5l Ve e R0 )

4. According to the passage, biographers of Emily Dickinson have traditionally ...........
A) criticized most of her poems

B) ignored her innocence and emotional fragility

C) seen her life in romantic terms

D) blamed her parents for restricting her activities
5. Why does the author mention William Luce's play The Belle of Amherst?

A) To give an example of the sentimentalized Emily Dickinson myth

B) To show how popular Emily Dickinson's poems have become

C) To show that Emily Dickinson was also an actress

D) To illustrate the theatrical quality of Emily Dickinson's poems
6. The author implies that many people attribute Emily Dickinson's seclusion to ............
A) physical illness

B) a failed love affair

C) religious fervor

D) her dislike of people

. The author suggests all of the following as reasons for Emily,Dickinson’s unusual
behavior EXCEPT the ..................

(A) struggle to create a new female identity

(B) desire to develop her genius undisturbed

(C) search for her own independence

(D) attempt to draw attention to her poetry

8. It can be inferred from the passage that Emily:.Dickinson lived in a society that was

characterized by .......ccccceevevunnnnnn.
A) strong Puritan beliefs
B) equality of men and women

(C) the encouragement of nonconformity
(D) the appreciation of poetic creativity:
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Passage 4

Native Americans from the southeastern part of what is now the United States believed
that the universe in which they lived was made up of three separate, but related, worlds: the
Upper World, the Lower World, and This World. In the last, there lived humans, most.animals,
and all plants.

This World, a round island resting on the surface of waters, was suspended from the
sky by four cords attached to the island at the four cardinal points of the.compass. Lines drawn
to connect the opposite points of the compass, from north to south and from east to west,
intersected This World to divide it into four wedge-shaped 'segments. Thus, a symbolic
representation of the human world was a cross within a‘circle, the cross representing the
intersecting lines and the circle representing the shape of This World.

Each segment of This World was identified by its‘ewn color. According to Cherokee
doctrine, east was associated with the color red because it was the direction of the Sun, the
greatest deity of all. Red was also the color of:fire, believed to be directly connected with the
Sun, with blood, and therefore with life. Finally, red was the color of success. The west was
the Moon segment; it provided ne warmth.and was not life-giving as the Sun was. So, its color
was black. North was the direction of.cold, and so its color was blue (sometimes purple), and
it represented trouble and defeat. South was the direction of warmth, its color, white, was
associated with peace and happiness.

The southeastern, Native Americans' universe was one in which opposites were
constantly at war with each other, red against black, blue against white. This World hovered
somewhere between the perfect order and predictability of the Upper World and the total
disorder and instability of the Lower World. The goal was to find some kind of halfway path,

or balance, between those other worlds.

1. Which of the following is the best title for the passage?

A) One Civilization's View of the Universe

B) The Changing of the Seasons in the Southeast

C) The Painting of Territorial Maps by Southeastern Native Americans
D) The War between Two Native American Civilizations
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2. In line 3, the phrase "the last" refers to ........ccccceuveee.

A) all plants

B) This World

C) the universe

D) the Upper World

. The author implies that This World was located .............

A) inside the Upper World

B) inside the Lower World

C) above the Upper World

D) between the Upper World and Lower World
4. According to the passage, southeastern Native Americans compared This World to .....
A) waters

B) the sky

C) an animal

D) an island
5A A_\Ig;cording to the passage, lines divided This World into how.many segments?

W0

B) Three

C) Four

D) Five

. According to the passage, southeastern Native Americans associated red with all of the
following EXCEPT ...............

A) fire

B) trouble

C) blood

D) success
7. According to the passage, which of the following colors represented the west for
southeastern Native Americans?

A) Blue

B) While

C) Black

D) Purple

. The shape of This Word isclosest to that of which of the following?

A) A circle

B) A triangle

C) A square

D) A cube
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Passage 1

Forces other than damaging winds are also at work inside tornadoes. Sometimes, as the
writhing, twisting funnel passes over a house, the walls and ceiling burst apart as if atbomb
had gone off inside. This explosion is caused by the low air pressure at the‘center of‘a tornado.

The pressure at the center of a tornado is usually 13 pounds per squareinch. However,
inside the house the air pressure is normal, about 15 pounds:per square inch. The difference of
2 pounds per square inch between the inside and outside pressure.maynot seem like much. But
suppose a tornado funnel passes over a small building that. measures 20 by 10 by 10 feet. On
each square inch of the building, there is 2_pounds of pressure from the inside that is not
balanced by air pressure outside the building. On the ceiling, that adds up to an unbalanced
pressure of 57,600 pounds. The pressureon the four walls adds up to 172,800 pounds.

If windows are open in the:building, some of the inside air will rush out through them.
This will balance the pressure inside and outside the building. But if the windows are shut

tightly, the enormous inside pressure may cause the building to burst.

Unfortunately; heavy rain and hail often occur in thunderstorms that later produce
tornadoes. So people frequently shut all windows to protect their property. This may cause far
worse damage later. For the same reason, tornado cellars must have an air vent. Otherwise, the

cellar door might:be blown out when a tornado passes over it.

1. Which of the following is the main topic of the passage?
(A) How tornadoes can be prevented
(B) When tornadoes usually occur

(C) Where tornadoes are formed
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(D) Why tornadoes cause so much damage

2. In line 2, the word "*funnel®* refers to which of the following?

(A) A bomb

(B) A house

(C) A tornado

(D) An explosion

3. According to the passage, tornadoes can destroy buildings because the ............
(A) force of a tornado increases the air pressure in a building

(B) air pressure at the center of a tornado is over 172,000 pounds

(C) weight of a tornado can crush a building’s roof whemrit passes overhead
(D) air pressure inside a tornado is less than the air pressure inside a building

4. According to the passage, what is the difference’ per square inch between the air
pressure inside a building and the air,pressureinside a tornado?

(A) 2 pounds

(B) 10 pounds
(C) 13 pounds
(D) 15 pounds

5. According to the'passage, the pressure on a building during a tornado can be relieved
| 1)

(A) closing the cellar

(B) opening the windows

(C) using a fan for ventilation

(D) strengthening the roof and walls

6. According to the passage, people close their windows to prevent damage caused by

(A) tornadoes

CAFYYACLYAY fal KI5l il
https://www.instagram.com/SharifzadehAcademy/
https://t.me/SharifzadehAcademyCom

¥¥Page |



sl sl Aty
Linked-In osl-38ad IS] (sl g s S o 5 4llie (et 4 SOl ) () sie dan 5 (5 ) al) dan 53 08

oSl sl S s s s 4l L ISI Ve 5 4als by« 59 & sim 50 AT
ole laallal 2 saiea (i) 5 ) i das ) 5 s e das ) Ol a G sean )
U 5 ol e (el R ) 68 asee L) (Setie — 3ol 8 (523) 25 ) e see (L)
TOLIMO el 53 (Sladia IELTS il Sedis  MSRT (Sledia  MHLE Sledia EPT sledia
Gea ibes b alae el s a Ledibas 5 o 4y allie Jl ) o585 (latia) Gl Kadi ) < lea
(©Yae) Osie s (i s (Sl (5 S) (el ) 40 (285 EndNote <asiail ) 8l o jialliae s
ot gun 5 Wi gl (B9 an s S o5l Ve e R0 )

(B) thunderstorms

(C) uprooted trees

(D) bursting structures

7. In line 17, the word "it" refers to ...............
(A) wind

(B) hail

(C) cellar door

(D) air vent
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Passage 2

Grandma Moses is among the most celebrated twentieth-century painters of the United
States, yet she had barely started painting before she was in her late seventies. As she once said
of herself: ‘I would never sit back in a rocking chair, waiting for someone to help me:” No one

could have had a more productive old age.

She was born on a farm in New York State, one of five boys and five girls ("'we came
in bunches, like radishes.”). At twelve, she left home and was in demestic service until at
twenty-seven she married Thomas Moses, the hired hand of one of-heremployers. They farmed
most of their lives, first in Virginia and then in New York State, at Eagle Bridge. She had ten
children of whom five survived: her husband died in 1927.

Grandma Moses painted a little as a child and made embroidery pictures as a hobby,
but only switched to oils in old age because her hands-had become too stiff to sew and she
wanted to keep busy and pass the time. Her pictures were first sold at the local drugstore and
at a fair and were soon spotted by a dealer who bought everything she painted. Three of the
pictures were exhibited in the Museum of Modern Art, and in 1940 she had her first exhibition
in New York. Between the 1930's'and her death she produced some 2,000 pictures: detailed
and lively portrayals of the rural life she had known for so long, with a marvelous sense of
color and form. 'l think really.-hard till think of something real pretty, and then I paint it." she

said.

1. Which-of the following would be the best title for the passage?
(A) Grandma Moses: A Biographical Sketch

(B) The Children of Grandma Moses

(C) Grandma Moses: Her Best Exhibition

(D) Grandma Moses and Other Older Artists

CAFYYACLYAY fal KI5l il
https://www.instagram.com/SharifzadehAcademy/
https://t.me/SharifzadehAcademyCom

¥YAPage |



sl sl Aty
Linked-In osl-38ad IS] (sl g s S o 5 4llie (et 4 SOl ) () sie dan 5 (5 ) al) dan 53 08

oSl sl S s s s 4l L ISI Ve 5 4als by« 59 & sim 50 AT
ole laallal 2 saiea (i) 5 ) i das ) 5 s e das ) Ol a G sean )
U 5 ol e (el R ) 68 asee L) (Setie — 3ol 8 (523) 25 ) e see (L)
TOLIMO el 53 (Sladia IELTS il Sedis  MSRT (Sledia  MHLE Sledia EPT sledia
Gea ibes b alae el s a Ledibas 5 o 4y allie Jl ) o585 (latia) Gl Kadi ) < lea
(©Yae) Osie s (i s (Sl (5 S) (el ) 40 (285 EndNote <asiail ) 8l o jialliae s
ot gun 5 Wi gl (B9 an s S o5l Ve e R0 )

2. According to the passage, Grandma Moses began to paint because she wanted to

(A) decorate her home

(B) keep active

(C) improve her salary

(D) gain an international reputation

3. From Grandma Moses' description of herself in the first paragraph, it'can be inferred
that she was ..............

(A) independent

(B) pretty

(C) wealthy

(D) timid

4. Grandma Moses spent most of her life ........c..0........
(A) nursing

(B) painting

(C) embroidering

(D) farming

5. In line 13, the word '"spotted' could best be replaced by .............
(A) speckled

(B) featured

(C) noticed

(D) damaged
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Passage 3

There were two widely divergent influences on the early development of statistical
methods. Statistics had a mother who was dedicated to keeping orderly records of
governmental units (state and statistics come from the same Latin root status) and a
gentlemanly gambling father who relied on mathematics to increase his skill atyplaying the
odds in games of chance. The influence of the mother on the offspring, statistics, is represented
by counting, measuring, describing, tabulating, ordering, and the taking of censuses -- all of
which led to modern descriptive statistics. From the influence of:the father came modern

inferential statistics, which is based squarely on theories of probability.

Descriptive statistics involves tabulating, depicting, and describing collections of data.
These data may be either quantitative such as measures of height, intelligence, or grade level -
- variables that are characterized by an underlying continuum -- or the data may represent
qualitative variables, such as sex, college major, or personality type. Large masses of data must
generally undergo a process of summarization or reduction before they are comprehensible.
Descriptive statistics is a tool for describing or summarizing or reducing to comprehensible

form the properties of an otherwise unwieldy mass of data.

Inferential statistics is ‘a formalized body of methods for solving another class of
problems that present great difficulties for the unaided human mind. This general class of
problems characteristically involves attempts to make predictions using a sample of
observations.” Foriexample, a school superintendent wishes to determine the proportion of
children‘in a large'school system who come to school without breakfast have been vaccinated
for flu'or whatever. Having a little knowledge of statistics, the superintendent would know that
it is unnecessary and inefficient to question each child; the proportion for the entire district
could be estimated fairly accurately from a sample of as few as 100 children. Thus, the purpose
of inferential statistics is to predict or estimate characteristics of a population from a knowledge

of the characteristics of only a sample of the population.
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1. With what is the passage mainly concerned?
(A) The drawbacks of descriptive and inferential statistics
(B) Applications of inferential statistics
(C) The development and use of statistics
(D) How to use descriptive statistics
2. According to the first paragraph, counting and describing are associated with ..........
(A) inferential statistics
(B) descriptive statistics
(C) unknown variables
(D) quantitative changes
3. Why does the author mention the "'mother™ and *'father’ in the first paragraph?
(A) To point out that parents can teach their children statistics
(B) To introduce inferential statistics
(C) To explain that there are differentkinds of variables
(D) To present the background ofstatistics in a humorous and understandable way
4. The word *'squarely’ in line 8 could best be replaced by which of the following?
(A) solidly
(B) geometrically
(C).rectangularly
(D) haphazardly
5. Which of the following is NOT given as an example of a qualitative variable?
(A) Gender
(B) Height
(C) College major
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(D) Type personality

6. Which of the following statements about descriptive statistics is best supported by the
passage?

(A) It simplifies unwieldy masses of data.

(B) It leads to increased variability.

(C) It solves all numerical problems.

(D) It changes qualitative variables to quantitative variables.

7. According to the passage, what is the purpose of examining a:sample of a population?
(A) To compare different groups

(B) To predict characteristics of the entire population

(C) To consider all the quantitative variables

(D) To tabulate collections of data
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Passage 4

The beaver is North America’s largest rodent. As such, it is a close relative of two
creatures that are not held in particularly high regard by most connoisseurs of wildlife, the
porcupine and the rat. Even so, the beaver has several qualities that endear it to peeple: it is

monogamous and lives in a family unit; it is gentle and clean; it is absolutely industrious.

The beaver's legendary capacity for hard work has produced some«astonishing results.
In British Columbia, for example, one ambitious creature felled a cottonwood tree that was 110
feet tall and more than five feet thick. In New Hampshire, beavers.constructed a dam that was
three fourths of a mile long and the body of water it created contained no fewer than 40 lodges.
In Colorado, beavers were responsible for the appearance of.a canal that was a yard deep and
ran for 7511 feet. Each adult beaver in Massachusetts, \according to one researcher’s

calculations, cuts down more than a ton of wood.every year.

Beavers appear to lead exemplary lives. But the beaver's penchant for building dams,
lodges, and canals has got it into.a lot@fhot'water lately. People who fish in the Midwest and
New England are complaining about beaver dams that spoil streams for trout and in the
Southeast loggers object whenever the animals flood out valuable stands of commercial timber.
But some beaver expertS champion a more charitable view. Historically, they say, this
creature's impact on.the'environment has been tremendously significant, and its potential as a

practical conservation resource is receiving more and more attention.

1. What does the passage mainly discuss?

(A) Characteristics and habits of the beaver

(B) Forest:animals as conservation resources

(C) Rodents of North America

(D) The beavers role in building canals

2. In the first paragraph, the author implies that the porcupine and the rat are .........
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(A) gentle and clean

(B) not found in North America

(C) disliked by connoisseurs of wildlife

(D) monogamous and live in a family unit

3. According to the passage, a beaver in British Columbia was responsible for.............
(A) cutting down a ton of wood

(B) constructing a 750- foot canal

(C) building a dam almost a mile long

(D) felling a 110-foot cottonwood tree

4. In line 8, to what does the word *it"" refer?
(A) Adam

(B) New Hampshire

(C) A cottonwood tree

(D) Colorado

5. According to the passage, beavers,have been the subject of complaints because they ...

(A) contribute to soil erosion by eutting down so many trees

(B) build dams that ruin popular fishing areas

(C) attack people who trespass on beaver territory

(D) destroy lag cabins by gnawing on the wood

6. The paragraph following the passage most probably discusses ....................
(A) examples.of destructive forest-dwelling rodents

(B) favorite trout streams in New England

(C) reasons for the beaver's popularity among loggers

(D) ways in which the beaver acts as a conservation resource
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Passage 5

To produce the upheaval in the United States that changed and modernized the domain
of higher education from the mid-1860's to the mid-1880's, three primary causes interacted the
emergence of a half dozen leaders in education, who provided the personal forcesthat was
needed. Moreover, an outcry for a fresher, more practical, and more advanced kind of
instruction arose among the alumni and friends of nearly all of the old colleges and grew into
a movement that overrode all conservative opposition. The aggressive Young Yale movement
appeared, demanding partial alumni control, a more liberal spirit, and broader course of study.
The graduates of Harvard College simultaneously rallied toyrelieve the college’s poverty and
demand new enterprise. Education was pushing toward ‘higher standards in the East by
throwing off church leadership everywhere, and in the West by finding a wider range of studies

and a new sense of public duty.

The old-style classical education received its'most crushing blow in the citadel of
Harvard College, where Dr. Charles Eliot; a young captain of thirty-five, son of a former
treasurer of Harvard, led the progressiveforces. Five revolutionary advances were made during
the first years of Dr. Eliot's administration. They were the elevation and amplification of
entrance requirements, the.enlargement of the curriculum and the development of the elective
system, the recognition of graduate study in the liberal arts, the raising of professional training
in law, medicine, and engineering to a postgraduate level, and the fostering of greater maturity
in student lifes"Standards of admission were sharply advanced in 1872 - 1873 and 1876 - 1877.
By the appointment of a dean to take charge of student affairs, and a wise handling of discipline,
the undergraduates were led to regard themselves more as young gentlemen and less as young
animals. One new course of study after another was opened up -- science, music, the history of
the fine arts, advanced Spanish, political economy, physics, classical philology, and

international law.

1. Which of the following is the author’s main purpose in the passage?
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(A) To explain the history of Harvard College

(B) To criticize the conditions of United States universities in the nineteenth century
(C) To describe innovations in United States higher education in the late 1800's

(D) To compare Harvard with Yale before the turn of the century

2. According to the passage, the changes in higher education during the late 1800's were
the result of ...........

(A) plans developed by conservatives and church leaders

(B) efforts of interested individuals to redefine the educational system

(C) the demands of social organizations seeking financial relief

(D) rallies held by westerners wanting to compete with eastern schools

3. According to the passage, Harvard College was.in need of more ..............
(A) students

(B) money

(C) land

(D) clergy

4. According to the passage;which,of the following can be inferred about Harvard College
before progressive changes occurred?

(A) Admission standards were lower.
(B) Students were younger.

(C) Classes ended earlier.

(D) Courses were more practical.

5. From the passage, it can be concluded that which of the following was a characteristic
of the classical course of study?

(A) Most students majored in education.
(B) Students were limited in their choice of courses.

(C) Students had to pass five levels of study.
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(D) Courses were so difficult that most students failed.
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1991-08

Passage 1

British Columbia is the third largest Canadian province both in area and population. It
is nearly 3 times as large as Texas, and extends 800 miles (1, 280 km) north fromthe United

States border. It includes Canada's entire west coast and the islands just off'the coast.

Most of British Columbia is mountainous, with long, rugged.ranges running north and
south. Even the coastal islands are the remains of a mountain range.that existed thousands of
years ago. During the last Ice Age, this range was scoured by glaciers until most of it was

beneath the sea. Its peaks now show as islands scattered along the coast.

The southwestern coastal region has a humidmild marine climate. Sea winds that blow
inland from the west are warmed by a current,of warm water that flows through the Pacific
Ocean. As a result, winter temperatures average above freezing, and summers are mild. These
warm western winds also carry moisture from the ocean inland from the coast. The winds from
the Pacific meet the mountain barriers'of the coastal ranges and the Rocky Mountains. As they
rise to cross the mountains, the winds are cooled and their moisture begins to fall as rain, on

some of the western'slopes almost 201 inches (500 cm) of rain fall each year.

More than half of British Columbia is heavily forested. On mountain slopes that receive
plentiful, rainfall,,huge Douglas firs rise in towering columns. These forest giants often grow
to be.as.much as 300 feet (90 m) tail, with diameters up to 10 feet (3 m). More lumber is
produced.from these trees than from any other kind of tree in North America. Hemlock, red

cedar, and balsam fir are among the other trees found in British Columbia.

1. In which part of British Columbia, can a mild tree be found?
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(A) In the southwest

(B) Inland from the coast

(C) In the north

(D) On the entire west coast

2. In line 16, the word ""heavily" could best be replaced by which of the following?
(A) weightily

(B) densely

(C) sluggishly

(D) seriously

3. Which of the following is NOT mentioned as a climate be found?
(A) Hemlock

(B) Cedar

(C) Fir

(D) Pine

4. Where in the passage does the author mention the effect that the mountains have on
winds?

(A) Lines 4-5
(B) Lines 8-10
(C) Lines 13-14
(D) Lines16-17
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Passage 2

Though they were not trained naturalists, Meriwether Lewis and William Clark in their
explorations of North America in the early nineteenth century came across enough unfamiliar
birds, mammals, and reptiles to fill a zoo. In keeping with President Jefferson's orders, they
took careful note of 122 species and subspecies that were unknown to science ‘and‘in many
cases native only to the West. Clark made sketches of any particularly intriguing creature. He
and Lewis also collected animal hides and horns and bird skins with such care that a few of
them were still intact nearly two centuries later. While Lewis and:Clark failed to meet the
mythological monsters reputed to dwell in the West, they did unearth the bones of a 45-foot
dinosaur. Furthermore, some of the living beasts they did come tpon, such as the woolly
mountain goat and the grizzly bear, were every bit as odd or.asfearsome as any myth. In their
collector's enthusiasm, they even floated a prairie ‘dog out-of its burrow by pouring in five

barrelfuls of water, then shipped the frisky animal to:Jefferson alive and yelping.

1. What does the passage mainly discuss?

(A) President Jefferson's pets

(B) Collector’s techniques foreapturing'wildlife

(C) Discovery of animal species by'Lewis and Clark

(D) Jobs for trained naturalists

2. ""In keeping with" iniline 3 could best be replaced by which of the following?
(A) Fallowing

(B) Managing

(C) Retaining

(D) Delaying

3. It can be inferred from the passage that President Jefferson ordered Lewis and Clark
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(A) bring back animals for a zoo

(B) train to be naturalists

(C) compile sketches for a book

(D) record newly discovered species of animals

4. In tine 8, what does the word "'they"" refer to?
(A) Lewis and Clark

(B) Dinosaur bones

(C) Mythological monsters

(D) Western dwellers

5. The author compares which of the following animals to.mythological monsters?
(A) The grizzly bear

(B) The prairie dog

(C) A tropical bird

(D) A poisonous reptile

6. According to the passage, Lewisand"Clark poured water into a prairie dog's burrow
because they wanted to ....:.0.. ..

(A) bathe the animal
(B) capture the animal
(C) give the animalwater

(D) teach the animal-to float
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Passage 3

What makes it rain? Rain falls from clouds for the same reason anything falls to Earth.
The Earth's gravity pulls it. But every cloud is made of water droplets or ice crystals. Why
doesn't rain or snow fall constantly from all clouds? The droplets or ice crystals in clouds are
exceedingly small. The effect of gravity on them is minute. Air currents move andlift. droplets
so that the net downward displacement is zero, even though the droplets are in constantmotion.
Droplets and ice crystals behave somewhat like dust in the air made visible in a shaft of
sunlight. To the casual observer, dust seems to act in a totally randoem fashion, moving about
chaotically without fixed direction. But in fact dust particles are mueh larger than water
droplets and they finally fall. The cloud droplet of average size is.only 1.25 inches in diameter.
It is so small that it would take sixteen hours to fall half a mile in"perfectly still air, and it does
not fall out of moving air at all. Only when the droplet grows to a diameter of 1.125 inches or
larger can it fall from the cloud. The average raindrop contains a million times as much water
as a tiny cloud droplet. The growth of a cloud.droplet to a size large enough to fall out is the
cause of rain and other forms®“of precipitation. This important growth process is called

"coalescence."

1. What is the main.topic,of the passage?
(A) The mechanics of rain
(B) The climate of North America
(C) How gravity affects agriculture
(D) Types of clouds
2. The word ""minute" in line 4 is closest in meaning to which of the following?
(A) Second
(B) Tiny
(C) Slow
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(D) Predictable

3. Why don’t all ice crystals in clouds immediately fall to earth?

(A) They are balanced by the pressure of rain droplets.

(B) The effect of gravity at high altitude is random. Y7Page |
(C) They are kept aloft by air currents.

(D) The heat from the sun's rays melts them.

4. The word 'motion™ in line 5 is closest in meaning to which of the following?
(A) Wind

(B) Descent

(C) Movement

(D) Humidity

5. What can be inferred about drops of water largerithan 1.125 inch in diameter?
(A) They never occur.

(B) They are not affected by the force of gravity.

(C) In still air, they would fall to earth.

(D) In moving air, they fall at a speedof thirty-two miles per hour.

6. In this passage; what does the term **coalescence’ refer to?

(A) The gatheringof small.clouds to form larger clouds

(B) The growth of dreplets

(C).Thefall of raindrops and other precipitation

(D) The'movement of dust particles in the sunlight

7. What'is the diameter of the average cloud droplet?

(A) 1.16 inches

(B) 1.125 inches

(C) 1.25 inches
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(D) One million of an inch
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